Exercise 2 

Q1.  Variable: Mass (kg)

	Class Int.
	True

Classes
	Mid-Point

(x)
	Frequency (f)
	Cum. Freq (cf)
	fi xi

	25-29
	24.5-29.5
	27
	2
	2
	54

	30-34
	29.5-34.5
	32
	2
	4
	64

	35-39
	34.5-39.5
	37
	6
	10
	222

	40-44
	39.5-44.5
	42
	10
	20
	420

	45-49
	44.5-49.5
	47
	7
	27
	329

	50-54
	49.5-54.5
	52
	3
	30
	156

	Total
	-
	-
	30
	-
	1245


     (a) Histogram, Frequency Polygon

     (c) Cumulative Frequency Curve
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                                       True Classes      


Upper True Classes

     (b) Frequency Polygon
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Σfi = n = 30,

 Σ fi xi  = 1245,     
 Σ fi xi2 = 52935

(d) Mean Mass of 30 patients,  
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Q2 

	
	Mode
	Median

	a)
	4
	    xi : 3,3,4,4,4,6,6,7,7,8   ;  n = 10 ;   (even number of cases)  

    Median =
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	b)
	4, 5
	    xi :  4,5,6,7,4,5 ,7,4,6,5,8  ;  x-sorted: 4,4,4,5,5,5,6,6,7,7,8 ;  n = 11 ;  (Odd)                
    Median =
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 Median = 5 

	c)


	9
	    xi: 3,9,10,7,11,8,21,12,9,9;  x-sorted: 3,7,8,9,9,9,10,11,12,21;  n= 10 ;(Even)
    Median =
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Q3  Xi : Mass (kg)
	Mass (kg)

(x)
	Frequency (f)
	Cumulative  Frequency (cf)
	fi xi

	55
	2
	2
	110

	57
	1
	3
	57

	59
	2
	5
	118

	61
	4
	9
	244

	63
	3
	12
	189

	Total
	12
	-
	718


     (a) Frequency bar Chart 

   
   (b) (i)   Mode  =  61  mass (Kg)
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 (ii) Median =
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(c)  Mean Mass,  
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Q4, Q5  Xi : Hypertension
	Class Interval


	True

Classes
	Mid- Point (x)
	Frequency (f)
	Cumulative Frequency (cf)
	fi xi

	04-14
	03.5-14.5
	9
	4
	4
	36

	15-25
	14.5-25.5
	20
	10
	14
	200

	26-36
	25.5-36.5
	31
	20
	34
	620

	37-47
	36.5-47.5
	42
	22
	56
	924

	48-58
	47.5-58.5
	53
	14
	70
	742

	Total
	-
	-
	70
	-
	2522
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             Q4(a) Histogram, Frequency Polygon            Q5 Cumulative Frequency Curve
                                       True Classes      


Upper True Classes

  
Q4(b)     n =Σfi =70,
     Σfixi = 2522,    
Σfi xi2 =101678

       Mean = 
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Q6   Xi : Ages in years
	Data
	Mean
	Median
	Mode

	 x: 30,31,33,32,29,30, 31,43,41,41,41

sorted-x

29,30,30,31,31,32, 33,41,41,41,43 
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= 34.727 years Age 
	     n = 11;      (odd number of cases)

     Median =
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 Median = 32 
	41
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